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- Vi(em3)| t(g) | (cm3) | (ppm) |gf/cm3| (%) (%) |#®&FO |%HEQ | ave. —
1 500/ 0.50 | 0.185 370/0.0010 | 0.037| 0.000(0.498 |0.454 |0.476
2 1000/ 0.50 | 0.185 185(0.0005 | 0.019| 0.000|0.294 |0.277 |0.286
3 2000[ 0.50 | 0.185 93(0.0003 | 0.009| 0.000{0.225 |0.201 |0.213
4 500| 1.50 | 0.556| 1,110[0.0030 | ©0.111| 0.001|1.433 |1.210 |1.321
5 800| 1.50 | 0.556 694/0.0019 | 0.069| 0.001/0.959 [0.818 |[0.889
6 1000| 1.50 | 0.556 555/0.0015 | 0.056| 0.001(0.805 [0.675 |0.740
7 500{ 2.50 | 0.926| 1,848(0.0050 | 0.185| 0.002|2.342 |2.154 |2.248
8 600| 2.50 | 0.926| 1,541/0.0042 | 0.154| 0.002|1.992 |1.857 |1.925
9 500| 5.00 | 1.852| 3,690[0.0100 | 0.369 0.004|4.553 |4.322 |4.438
10 700| 5.00 | 1.852| 2,639/0.0071 | 0.264| 0.003|3.398 |3.169 |3.283
11 800| 5.00 | 1.852| 2,309(0.0063 | 0.231| 0.002|3.094 |2.857 |2.976
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